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Run 5284 quartetwise, posHQ: Beam DH

Run 5284 quartetwise, asym0Osub: Beam ON

—— Laser ON
—— Laser OFF

Entries: 63327
Mean: 312006 - 0.0OBIS
otd Dew: 17.0782 +/- 0.0480

— Laser ON Entries: 63327 Entries: 51315 aam1_1ach._pacHo
— Mean: 17.3060 +- 0.0026 Mean: 1.5732 +- 0.0010 513135
— Laser OFF Std Dev: 0.6656 +- 0.0019 | Std Dev: 0.2255 +/- 0.0007 1.573
— S0 DBV 0.2255
[ 1 1 | 1 1 | 1 1 | 1 1 | 1 1 | | I | I ] | | 1 1 | | 1 |
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Entries: 31313
Mean: 0861 +- 1.037E
Std Dew: 8.5160 +- 0.0266
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Run 5284 gquartetwise, negHO: Beam DIN

— Laser ON Entries: 63327 Entries: 51315 aomi_lach_nagha
— Mean: 16.3517 +/- 0.0025 Mean: 1.5717 /- 0.0010 51315
— Laser OFF Std Dev: 06367 +- 0.0018 | Std Dev: 0.2251 +- 0.0007 1.572
— oo 0.2251
[ | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | L1 1 1 | 1 1 1
2 4 5] B 10 12 14 16 18
-------- Histogram Vars

Positive Hel (ON): 17.305954 +/- 0.002645
Negative Hel (ON): 16.351737 +/- 0.002530
Positive Hel (OFF): 1.573154 +/- 0.000995
Negative Hel (OFF): 1.571747 +/- 0.000994
-------- Sums and Diffs

On Diff: 0.954217 +/- 0.002062

Off Diff: 0.001407 +/- 0.001147
On Sum: 33.657691 +/- 0.004748

Off Sum: 3.144901 +/- 0.001625
-------- Asymmetries
On Asym: 31.272679 +/- 0.067762 (ppt)
Off Asym: 0.046118 +/- 0.037593 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 30.512790 +/- 0.005019
BkSub Asym: 31.226560 +/- 0.077491 (ppt)




posHO

asym (AccO) / ppt

Run 5284 quartetwise, posHO vs time Run 5284 quartetwise, negHO vs time
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Run 5284 quartetwise, asym0Qsub vs time Run 5284 quartetwise, bcm vs time
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